
Programming #2 (4190.562)

Due: April 9, 2018

Given a planar cubic Bézier curve C(t) =
∑3
i=0 biB

3
i (t), 0 ≤ t ≤ 1, consider the swept

region of an ellipse: E = (a cos 2πs, b sin 2πs), 0 ≤ s ≤ 1, along the trajectory curve C(t).
Compute the envelope curve E of the moving ellipse E along the trajectory curve C(t).
Compute the self-intersection points of the envelope curve E .

Now rotate the ellipse E by an angle θ so that

Eθ = Rθ(E) = (a cos 2πs cos θ − b sin 2πs sin θ, a cos 2πs sin θ + b sin 2πs cos θ).

Compute the envelope curve Eθ of the moving ellipse Eθ along the trajectory curve C(t).
Compute the self-intersection points of the envelope curve Eθ.
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